


In the questions given below a sentence has been broken down 

into four fragments labeled (A) (B) (C) (D)and arranged and 

not necessarily in the same order. You have to find the correct 

order of the arrangement from the options given below. In 

case, the sentence is correct in its original form, please select 

(E) as your answer.



easing uncertainty that has fuelled haven 

demand for bullion(A)/the first phase of a trade 

deal with China on 15 January, (B)/US President 

Donald Trump said he will sign (C)/the metal 

managed to hold on to gains even after (D)/

1. DCBA

2. CBAD

3. ABDC

4. BDAC

5. No arrangement required



while several companies have raised capital in the last few 

years(A)/ through pre-IPO funding and several dedicated 

funds(B)/ are being set up to tap these opportunities, SFBs, 

(C)/in particular, have shown higher interest in raising 

capital in private rounds just ahead of their IPOs.(D)/

1. DCBA

2. CBAD

3. ABDC

4. BDAC

5. No arrangement required



that the inclusion of citizenship questions could (A)/and 

the NPR, but research from the US suggests(B)/the 

government has set aside Rs.13,000 crore for the next 

census (C)/both increase costs and dilute the quality of the 

survey.(D)/

1. DCBA

2. CBAD

3. ABDC

4. BDAC

5. No arrangement required



India’s top seven auto manufacturers that make up(A)/ 

most of passenger vehicle (PV) sales reported dispatching 

(B)/—including numbers for December released on 

Wednesday— against 3.12 million the previous year  (C)/ 

2.67 million passenger vehicles to dealerships in 2019.(D)/

1. DCBA

2. CBAD

3. ABDC

4. BDAC

5. No arrangement required



out of Japan in a large musical instrument box (A)/in one 

speculative account, which cited no sources,(B)/after a 

Christmas band visited his residence in Tokyo(C)/Lebanese 

television station MTV reported that Ghosn smuggled 

himself.(D)/

1. DCBA

2. CBAD

3. ABDC

4. BDAC

5. No arrangement required



In the questions given below a sentence has been broken down 

into four fragments labeled (A) (B) (C) (D)and arranged and 

not necessarily in the same order. You have to find the correct 

order of the arrangement from the options given below. In 

case, the sentence is correct in its original form, please select 

(E) as your answer.



which commenced its purposeful journey on November 7, 

1975, (A)/ every nook and corner of the country (B)/ has 

made a stellar contribution in lighting (C)/India’s largest 

power producer, (D)/ current power producing capacity (E)

1. DAEB

2. DAEC

3. AEBC

4. DACB

5. none of the above



because of Harris’ heritage than (A)/ unfortunately it’s just 

not true (B)/ Indians have been watching  (C)/ this election 

extremely closely, less (D)/ for what it might portend for 

India-U.S. relations (E)

1. CDBE

2. DAEC

3. CBAE

4. CDAE

5. none of the above



of the MSME sector in India, TransUnion CIBIL in 

partnership with (A)/ Ministry of Statistics & Programme

Implementation (MoSPI) has launched (B)/ a numeric 

indicator for benchmarking the health (C)/ in order to 

provide a measure of the growth and strength (D)/ MSME 

Credit Health Index (E)

1. ECAD

2. DABE

3. DEBC

4. ABEC

5. none of the above



from the Integrated Test Range in Chandipur, off the coast of 

Odisha (A)/ used by regiments of the Indian Army (B)/ 

developed by the Defence Research and Development 

Organisation (DRDO) (C)/ an enhanced version of the Pinaka

Mk-1 missile, (D)/ was successfully flight-tested (E)

1. DECA

2. DCEA

3. DECB

4. DCAB

5. none of the above



the IAF announced that the fighter (A)/ at Jamnagar airbase 

in Gujarat on Wednesday evening (B)/ a second batch of 

three Rafale fighter jets arrived (C)/ in a further boost to 

strike capability of the Indian Air Force (D)/ after flying 

non-stop from France (E)

1. ECDA

2. CBED

3. EDBA

4. CDAB

5. none of the above



Scientists have discovered (A)/ that may pave way 

for sustainable ways to clean up oil spills (B)/a 

unique oil-eating bacteria in the Mariana Trench, the 

(C)/deepest part of the earth’s oceans, a finding (D). 

(SBI PO 2019)

1. CDBA

2. BCDA

3. ACDB

4. ADCB

5. DCBA



Andhra Pradesh on Monday morning (A)/ EMISAT, 

from Sriharikota in coastal (B)/ the Indian Space 

Research Organisation (ISRO) launched (C)/the 

country’s first electronic surveillance satellite (D)

(SBI PO 2019)

1. CDBA

2. BCDA

3. ACDB

4. ADCB

5. DCBA



(A) concept used when

(B) philosophy of technology

(C) technological somnambulism is a

(D) talking about the

(IBPS Exam 2019)

1. CADB

2. ABCD

3. BCDA

4. ADCB

5. CABD



(A) with the interim budget out,

(B) all eyes are now on the Monetary

(C) policy Committee’s (MPC) decision that

(D) will be announced on 7 February 

(IBPS Exam 2019)

1. CADB

2. ABCD

3. BCDA

4. ADCB

5. CABD
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